=R - —R&BF  5000m
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1 5611 B #E(E &5 & H2) 16.53.69 7 19 5423 FE Kt (F T % Z1) 19.17.42
2 5369 A HA (BEHAEZ2) 16.32.52 3 20 5603 M i (%E B B = 2) 17.49.72
3 5418 BEH ZE (F I % Z1) 17.19.02 70 21 5584 #Hih =A (WM A =1) 20.21.00
4 5407 B BE (T I ¥ H2) 16.46.19 4 22 N B ( ) 16.48.12
5 5551 HEH HA (XTI %25F3) DNS 23 5501 MMBF—HL(® A B3I) DNS
6 5667 EBHEAM (WhEHFEZ 1) 17.46.35 75 24 5582 7 =t (m A& 1) 16.51.66
7 5412 $5K B (¥ I % Z2) 17.18.00 9 25 5583 % K (m & 1) 21.11.78
8 5662 /MiE FA (LWhEFHEZ 1) 18.12.15 271 26 5321 kx5 & (£ H Z2) 17.15.33
9 5673 HE B (LWHEFEZ1) 17.34.75 13 27 5330 £/, &HE (& #H 1) 17.47.54
10 5378 miE #LB (ZBEHHAESZ 1) 19.07.73 28 28 5567 #%E X&F (W FE T £Z1) 20 37.53
11 5414 H/# FE (F T % Z2) 17.45.24 14 29 5333 INAHRE (£ H Z1) 16.31.99
12 hEKE( ) 17.29.86 72 30 5329 k% %= (£ H & 1) 18.04.65
13 5413 EH B3 (£ T ¥ &2) DNS 31 5571 £F KB (/N EIT £51) 20.46.98
14 5384 /M)l B (EBEHEAES 1) 19.19.03 30 32 5336 NEH A (£ H Z1) 17.20.82
15 5410 B2 %3 (F T % Z2) 18.25.81 23 33 5334 #il 4 (£ H Z1) 17.51.05
16 5598 /NBF EC (%8 B & = 3) 18.44.57 26 34 5575 ESNEN (W E T £51) 18.28.76
17 5565 WA LKL (XTI %£52) 17.54.92 719 35 EERT (W E &H1) 18.31.83
18 5560 #6AK BA (XTI £3F2) 18.24.47 22 36 5202 % MBE (Vb =t ) 18.59.22
37 5549 $iK BX (LWhZ=EES 1) 10.29.55
1000m 2000m 3000m 4000m
B4 L 3.09 6.23 9.46 13.12
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1 4 Mft BE(KEXIEKX2) 15.25.30 2 19 5305 ZEik sl (2 H &S3) 15.57.73
2 5464 RE AR (LWhEHRAa/m2) 15.28.90 5§ 20 5468 HM Esk (LWhHELAS 1) 16.45.80
3 5653 kO #i (LWhEFEZ2) 15.13.31 7 21 5612 L A (&8 &8 & 1) 17.36.53
4 5649 BE i (LWHEHEZ2) 15.50.60 70 22 5563 /NIl BE#H (NE T £Z2) 16.27.73
5 5309 B M (2 # &3) 15.27.63 4 23 5659 —71 BE (LWHEFESZ 1) 16.37.41
6 5323 #BA BF&E (£ H H2) 15.47.82 9 24 5514 £l BZ (H X B2) 16.26.73
7 5353 #5AK HE (LBEMAES3) 15.44.19 7 25 5552 % E A (XTI %253) 16.51.77
8 5219 MR T (Wb xRt ) 15.47.27 8 26 5587 E7 Bt (m & &=2) 16.26.36
9 5604 EEE FIIC (8 B & H2) 16.21.23 718 27 112 &% BE#H (%8 B & Z=5) 16.16.99
10 5365 FEA % (EEHHEAESZ 2) 16.29.80 25 28 5660 /NEH st (LWbhEFEZ 1) 16.20.07
11 5597 =48 EHM (%8 B & Z=3) 16.29.36 24 29 5664 A £ (LWbEHESZ 1) 17.05. 93
12 5564 H# At (X T 2Z2) 1540.99 6 30 5319 NR fEE (£ # Z2) 17.02.97
13 5355 E4# M (LBEH#EAES 3) 16.30.06 26 31 5661 BE #HE (LWhEHEZ 1) 16.56.93
14 5214 2 A (Wb =t ) 16.11.45 74 32 5368 XEHE KX (BEHHEAES 2) 16.32.20
15 5337 FEFEAE (£ 3 Z1) 16.25.22 79 33 5303 /NiF &8 (2 3 Z3) 16.27.57
16 5338 £8 K& (& #H Z1) 16.17.59 76 34 5307 % H# (& H F3) 17.22.08
17 5650 ZB {hsk (WhEHHEZ2) 16.02.96 73 35 5313 BT B4 (& s Z2) 16.30.86
18 5674 M BHE (WhE=HFHZ1) 155544 77 36 5315 HHE ZHF (& s Z2) 16.55. 36
37 B S (B %k K ) 15.27.25
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7 5444 B *x Y2 (F mEm X 82) DNS
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10 5453 FH F#M (LWVHhEHRESZ3) 110184 9
11 5322 RA B (£ H &2) 105929 8
12 5528 H¥ EX (5 X ®&2) 114258 21
13 5532 RF B (% &KX B&2) 112420 16
14 5436 K% EEX(F B % 52) 113309 718
15 5448 XN BTHER(E B % 51) 113831 20
16 5657 BAXRKE (LWHEHFEEF2) 110791 712
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18 5675 AHEKE (LWHEFHFEF 1) 114910 22
19 5389 %48 HE (LBEsELES1) 11.1846 14
20 5325 #®)II FE (£ HH J2) 115693 23
21 5318 dtMHEF (£ H =2) 112363 15
22 5346 =H ®WHEF(E H =1) 11.0853 713
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25 54711 AL EF (LWhHhEHERES 1) 105106 6
26 5469 WHEARE (LWhEHRESE 1) 113480 719
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(# M ®| &+ 2) 9.21.41 2 16 5798 BE =T (F % = 3) 9.48.22
(= % 3) 9.19.69 7 17 6455 Mgk sz (4% R $2) 9.5588
(%8 w5 H3) 93666 5 18 X B (2 % $3) 10.15.98
(# M %= +3) 9.39.22 6 19 6036 i Mz (WME—$53) 9.47.52
(2 % H3) DNS 20 6136 AMRAKMN (% & F2) 10.30.13
(BARE—h3) 92407 4 21 594 Bt #A (hR&@mH2) 100680
(7 % = &3) 92182 3 22 T K& (2 B $3) 958098
(BXE—Hh3) 941.22 8 23 TH OWME (2 B $3) 10.12.75
(F % = ®w3) 94832 72 24 Al K¥F (£ h3)  DNS
(# B 3| &+ 2) 95980 78 25 5803 A &% (F % = $3) 10.12.26
(BAE—d2) 9.50.40 75 26 5899 7% B (=& dch3) 10.28.06
(82 R 3) 94842 73 27 6132 F& WA (£ & H3) 10.57.38
(BAE—h3) 9.48.82 74 28 6171 &M A% (# B = 2) 10.48.84
(WERE=Hh3) 94424 9 29 W& B (48 B F= h2) 10.38.78
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(ME®E=hm3) 10.41.34 8 16 LED 8
(22 W H3) 10.23.77 6 17 AE &=
(k&4 d1) 10.27.67 7 18 6223 #B HA
(BAL=m1) 10.16.89 2 19 NG A
(BALE=rm3) 10.42.58 9 20 BTER  4E£3A
(BAE—H2) 10.18.25 3 21 5866 {kfE ==
(BALE—Hm2) 10.19.93 4 22 HE A8
(8 B &H2) 10.22.60 5 23 6221 #x =E
(£ = &3) 10.47.85 77 24 ETE O
(F % = ®3) 11.15.12 18 25 8 BX
(EE=_h1) 11.33.08 24 26 6216 =48 KE
(%2 w5 H2)  DNS 27 sy T
(28 W h2) 11.19.41 19 28 Be @
(BAE=Hm3) 10.45.55 70 29 6332 #H &=
(R &®mH2) 10.52.67 73 30 6331 &0 =
31 w8 =N
32 KR BA
[ 1o0om | [ 3.15 [2000m] | 6.57
(ke =h3) 11.0450 5§ 16 5800 8 =E4%
(DEE=-H2) DNS 17 @ B
(kE=-_Fh2) 11.04.74 6 18 5825 i H XK #t
(MEE=rh1) 11.35.31 15 19 #BA Wit
(ke ddi) 11.21.18 717 20 B Hih
(k& ddi) 11.05.52 7 21 6022 A His
(BAE—m1) 10.54.99 7 22 6028 EAFFEES
(BAE—h1) 11.25.36 73 23 6052 EE B A
(BAE—h1) 11.28.70 74 24 6045 EXE Kt
(BAE—h1) 11.12.28 9 25 6051 LL=FiEELR
(N & & 3) 12.10.15 22 26 6031 Efk =13
(£ = 1) 10.23.97 71
(F % = &w2) 12.21.04 23
(F % = &2) 11.52.59 19
(F % = w2) 11.06.79 8
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(7% _H3) 10.17.76 7 18 5929 it HBIF (P RE®MHAI) 12.23.70
(7% E_h2) 10.28.43 2 19 5943 HFE ZLE (hpREmFB2) 12.41.35
(mAE—H3) 10.38.39 3 20 6162 & » A (£ W H2) 11.32.24
(% B ®| B 2) 11.22.04 9 21 6167 &#F Bii2 (4 B = H3) 12.37.07
(% B ® H3) 11.39.41 73 22 6342 i & g (E % d1) 11.55.67
(F % = #H3) 10.48.39 5§ 23 6209 KXF HmE(WEHE—+H1) 11.35.83
(% 1 H3) 11.02.00 6 24 6208 EN@ HM#E (WEHFE—F 1) 11.42.13
(88 & &3) 11.11.27 7 25 6200 #6 K =t (ZWEHE—+H2) 11.52.52
(BARE—Hh2) 10.43.64 4 26 5846 151l HE (F F = $2) 12.05.02
(HBARE—H3) 11.46.98 77 27 5870 #% EHF (F F = B 1) 11.48.14
(PREEHI) 11.13.63 8 28 5939 /iy tR (P REBmH2) 13.31.26
(BZARE—dh2) 11.30.95 70 29 5910 HHF #27E (p &L P 1) 14.21.94
(B2 % G3) 11.41.93 74 30 5905 #@aKx R (P RELFT) 12.18.52
(2 % #3) DNS 31 5911 WE #2#E (P RAEFFT)_13.27.40
(BARE—Hh3) 11.57.42 27 32 6228 )y ##F (WK E -F3) 12.28.91
(2 % 3) 12.00.42 22 33 5940 k& /tk (hRE&mFP3) 11.43.63
(PREEHI)_12.41.04 29 34 6340 fFpg =F (E % F1)_12.40.02
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(m & ®3)_12.10.07 8 20 6240 s RFE (MWEHE 1) _12.20.37
(D EE=_H3)_12.36.35 77 21 6239 £k HH (W EXE =+ 1)_12.11.83
(k& = 3)_13.42.59 28 22 6237 &MY A (ZEFE =k 1) 10.57.67
(F 8 = &1) DNS 23 6236 \NBIH#h (AEE=-F2)_13.0/. 711
(F % = H3)_12.24.49 74 24 6242 % ) H (WK FE=-+F1)_11.51.26
(7 kE=_HF2)_12.10.39 9 25 6164 XWMRXF (£ IF & 1) DNS
(kL =P 2)_ 12.23.58 713 26 BX HEE (I & H3) DNS
() kE-_HF2)_12.36.85 78 27 5831 g E®R (F % = & 1)_11.59.53
(n & & 1)_13.07.49 25 28 EH OEE () &M f2)_14.13.84
(n & & 1) _12.54.15 23 29 5999 £# ME (™ & HF2)_13.18.64
(ZARE=H2)_12.14.47 77 30 6061 B & ¥ (N W HE —+2)_11.10.33
(% B & 2)_11.37.57 3 31 6064 AR & (NMWFE—+1)_11.38.50
(% B ®&2)_12.40.69 79 32 6063 /A HE (NMFE —+1)_12.28.50
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